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Papir I1

(ENVIRONMENTAL SCIENCES)

1. Thetheme ‘Transforming Our World : 2030
Agenda’ is related to one of the following:

(A) Mission Life

(B) Protection of Ozone layer

(C) Conservation of natural resources
(D) Sustainable development goals

2. Complete enumeration of considering all
items in the population is
(A) Sampling without any restriction
(B) Sample survey
(C) Non-probability sampling
(D) Census

3. Thesoil horizon mostly made up by organic
matter such as leaf litter and decomposed plant
material is also known as

(A) ‘A’ horizon
(B) ‘B’ horizon
(C) ‘C’ horizon
(D) ‘O’ horizon

4. As per EIA notification of 14th September,
2006, preparation of EIA is not required for the
projects falling in the

(A) Category ‘A’ projects
(B) Category ‘B1’ projects
(C) Category ‘B2’ projects
(D) Category ‘B’ projects

5. Which one of the following element has the
longest residence time in the Ocean?

(A) Calcium
(B) Lead
(C) Sodium
(D) Iron

1. ‘Transforming Our World : 2030 Agenda’-
G2 qr=als e MM e

(A) =i sz

(B) eteld W T

(C) Pl FT=olta FT=el

(D) AR SH2a (Sustainable
development) sTFFIE!

2. ﬂ“"ff ST (enumeration) AT 7T
s REwal 3 @bre [0 23, @I 24

(A) e =reRize (Sampling without
any restriction)

(B) 0T™¥Ie1 AIC® (Sample survey)

(C) -(ARIRBAG Iz (Non-probability
sampling)

(D) 7131 (Census)

3. sAfcore el ¢ ot Sfer e tofs (o
smield Tof few w=es (Horizon)-(F A
(A) ‘A’ 2@ (Horizon)
(B) ‘B’ ZAiZ& (Horizon)
(C) ‘C’ ZAiZE (Horizon)
(D) ‘O’ 231¥% (Horizon)

4. 14 GTH%F, 200693 EIA-3 IR
SRR FHfeTie @ (oa (F @ (@iFe EIA (o Fa1
TEHIF ACT

(A) e ‘A (2ites
(B) 4@ ‘B1” (At
(C) Fifaifd ‘B2’ (At
(D) #Ifoeif7 ‘B’ (At

5. I[w NRERS @ T A 7Y A
FUESREETE
(A) =PRI
(B) Pl
(C) e
(D) T
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6. Red Data Book is published by
(A) BNHS
(B) TUCN
(C) wi
(D) IPCC

7. The ‘Ring of Fire’ is located in the
(A) Indian Ocean
(B) North Atlantic Ocean
(C) South Atlantic Ocean
(D) Pacific Ocean

8. The first National Park established in India
is
(A) Neora Valley National Park
(B) Rajaji National Park
(C) Kaziranga National Park
(D) Corbett National Park

9. Which one of the following is the national
aquatic animal of India?

(A) Saltwater Crocodile
(B) Olive Ridley Turtle
(C) Gangetic Dolphin
(D) Gharial

10. High level of E. coli present in water
indicates

(A) Saline water

(B) Pollution from chemical industry
(C) Potable water

(D) Sewage pollution

6. (FT (B IF TR AF
(A) BNHS
(B) TUCN
(C) WII
(D) TIPCC

7. ‘R ET TR @2 S_@ETS
(A) SIS IA1E
(B) &g SGalfGF w2
(C) Wt GG SIZPTIoE
(D) =II€ AR

8. SITedE 22N (@ Teow S afee Tm—
(A) €Tl Shife T Supie
(B) EIG! Trei Swpie
(C) Fiferms whel Swpie
(D) TG GrOR Swyiel

9. fwffie @G Siace e wee Al e
(A) (e W (Saltwater Crocodile)
(B) wieTe e bIzb (Olive Ridley Turtle)
(C) Itg®F TeIf (Gangetic Dolphin)
(D) MG (Gharial)

10. &S SHNAT E. coli AR @0 2t ¢
(A) RS &
(B) PRI iarems vzl
(C) sAI=aley ot
(D) Prewe (Sewage) 73l



11. ISO 14040 is connected to
(A) Energy audit
(B) Biodiversity documentation
(C) Natural resource audit
(D) Life cycle analysis

12. The full form of IUCN is

(A) International Union for Conservation
of Nature and Natural Resources

(B) Intergovernmental Union for
Conservation of Nature and Natural
Resources

(C) International Union for Conservation
of Natural Resources

(D) Intergovernmental Union for

Conservation of Nature

13. Mesothelioma is caused in lung by
(A) Mercury
(B) Lead
(C) Asbestos
(D) Chromium

14. Which of the following instrument is used
to detect polyaromatic hydrocarbons (PAH)?

(A) X-ray diffraction

(B) Gas Chromatograph

(C) Flame Photometer

(D) Atomic Absorption Spectrometer

15. Ozone day is celebrated on
(A) January 16th
(B) June 16th
(C) September 16th
(D) December 16th
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11. ISO 14040 @53 ez T=ifFo—
(A) *If& (Energy) 7™IfFe =65 (Audit)
(B) GRGEDG@T FiIgeead
(C) HiFless A™==a =Ifeh (Audit)

(D) =12 AgFa [ERd (Life Cycle
Analysis)

12. TUCN =zt 216 =51

(A) THIRHIIET ST T IS0
T (I6IF SIS MG [N

(B) TG (01 BG wRo T oGS
W (B SIS B [N

(C) THRTHINE ST T4 FeIeiacea
o BRI R{eNe™

(D) TOIRTSTEIBIE ST N 4 PSS
BN

13. FFEIRIC ‘FACREIS (Mesothelioma)
=
(A) =t (Mercury)
(B) PP (Lead)
(C) SUHCE6A (Asbestos)
(D) GRS (Chromium)

14, Tl @ 7@ AAfereniEbe
2REGFET] (PAH)-E #9& FAC AE 2
(A) X~ fezi
(B) ST (EFIICHILNE
(C) G IGIRGE
(D) ST SHRFATART CFGIRGR

15. stae < @fe sAifere 21—
(A) 16 G
(B) 16 G«
(C) 16 G4
(D) 16 fSr=a
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16. In which of the following biodiversity
hotspots Lion-tailed Macaque is found?

(A) Sunda Land

(B) The Himalayas
(C) Indo-Burma region
(D) Western Ghats

17. Which one of the following books was
written by Aldo Leopold?

(A) Selfish Gene
(B) Biodiversity
(C) A Sand County Almanac
(D) Sustainable Development

18. Which of the following is true regarding
Extended Producer Responsibility (EPR) Policy?

(A) Liable companies must mitigate the
environmental impacts of their
products throughout the entire product
life cycle

(B) EPRaimsto promote circular economy
of plastic packaging waste

(C) Both (A) and (B) are true
(D) None of the above is true

19. Highest percentage of carbon are found in
(A) Sub-bituminous coal
(B) Coal of tertiary period
(C) Anthracite
(D) Lignite

20. The excessive extraction of groundwater
for drinking and irrigation can be responsible for

(A) Shifting of Earth’s axis of rotation
(B) Earthquakes

(C) Partial rise of global sea level

(D) All of the above

16. ERIRS @@ ARCESHHG 25/ a=m-
@FI'\? JIFIE (Lion-tailed Macaque) 2N AR 2
(A) Tl TS
(B) fesem
(C) Zrwi-as weea
(D) “If*owais

17. oyl fieere  faERe @@ @6
TeTCafReeT 2
(A) Selfish Gene
(B) Biodiversity
(C) A Sand County Almanac
(D) Sustainable Development

18. fagfaifie &= ‘Extended Producer
Responsibility’ (EPR)-49 F(q AfoF e 2
(A) TR @rlfvel] S (2T T
GIIb(E AREHR 2R a«ifire F0a
(B) EPR-¢3 o7 281 2P0 (G
qCeNd e wLMSTe (Circular
economy) BeAZe 41
(©) (A) 9% (B) Tew3 AT
(D) SR @IHE AfoT 77

19. o<1 A ARTD “Afwe < o TR—
(A) AR-RERE™ F7& (Sub-bituminous)
(B) Brf*aif sidiczra st
(C) SMIRG
(D) feiizs

20. AR S EIHA &) oS ATl goreg e

TGS T FRA®
(A) oJf2Fa Il gefemma ARes
(B) ©-F~

(C) ™ SRS Terhife
(D) THAfTew FFn



21. Level of dissolved oxygen in water varies
with
(A) Altitude above sea level
(B) Temperature
(C) Contaminants
(D) All of the above

22. Following are the names of Ramsar sites
and the States where they are located. Find out the
incorrect combination:

(A) Ashtamudi Wetland — Kerala

(B) Sambhar Lake — Rajasthan

(C) Chandra Taal — Himachal Pradesh
(D) Rudrasagar Wetland — Meghalaya

23. Whichof the following statements is frue as
per Buddhist philosophy?
(A) Resources are meant for utilization
for commercial gain
(B) Human beings along with other
creatures are integral part of the Nature
(C) Humans need to control natural
resources

(D) All of the above

24. Who is the author of ‘The Historical Roots
of Our Ecological Crisis’?
(A) Lynn White
(B) Rachel Carson
(C) John Miller
(D) Redd Fort

25. Which of the following statements is frue
for circular economy?
(A) Keeps the product circulating among
different users
(B) Keeps manufacturingincircular steps
(C) Increases products of circular shape
(D) Keeps materials, products and
byproducts in circulation for long
possible time.

33-11

21. G A WEHEEE @l o7 Fa—
(A) TG (AT THoel
(B) i@l

©) ==
(D) ToAfITE 75

22. 5 AR T IR I @ ey SIS
OIF ©Iferl (e MR | G W (@5 (Eief 24

(A) ST €ROENS (Wetland) — &1eTl
(B) 99 T (Lake) — SIS

(C) vmrolet — fZAbe A=l

(D) @99 SRLEANG — (LT

23. (T wia SRR fEkRe @ [efe
A 2
(A) 3> e AT #ced o=y %4
(B) SIRJA AN T& I8 G191 251 2iFfod
Ry i
(C) A T elifoss Tiv fage 1
(D) THfaSw 7=t

24. ‘The Historical Roots of Our Ecological
Crisis’-92 336 & feTrifersie ¢
(A) Lynn White
(B) Rachel Carson
(C) John Miller
(D) Redd Fort

25. ﬁ_@‘{l-@fﬂﬁ w9 (Circular economy) CF(d
fsfeReafem Ty et Afw?

(A) ffea gz s (Product)
Afcia

(B) J&¥ WFIA I& 2igfosael
(C) ITeF JoI TFIFF I8

(D) TG AG A 4721 38, 7l (Product)
@3] T (Byproduct)-43 ARG

[ Please Turn Over ]



33-11

26. What changes happen in soil on long-term
use of potassium sulphate in agriculture field?
(A) Increases the pH
(B) Decreases the pH
(C) There is no change in pH
(D) None of the above

27. If the bottom of a stream is dominated by
the larvae of mayfly and stonefly, what may be
quality of water of the stream?

(A) Good

(B) Poor

(C) Highly polluted

(D) Polluted by organic matter

28. Sources of microplastics include
(A) Washing of synthetic cloths inlaundry
(B) Microbeads added in personal care
products
(C) Abrasion of tyres on road

(D) All of the above

29. Which of the following statements is frue
for Noosphere?
(A) Noosphere is the sphere of thought

and consciousness enveloping the
Earth

(B) Noosphere is the layer of pollutants in
atmosphere

(C) Noosphere does not incorporate
geosphere and biosphere

(D) All of the above

30. The air pollutant that has the highest
potential of adversely affecting chlorophyll is
(A) CO; (Carbon dioxide)
(B) O3 (Ozone)
(C) HC (Hydrocarbons)
(D) CO (Carbon monoxide)

26. FREhce TOTEE @@ ABifREE A

ARCER T NS F 4 ARG 272
(A) pH3ffe =
(B) pH < T
(C) pH-43 (I #lfaade =g =1l
(D) TR (IR

27. M @I THF AT FEFiR (Mayfly) 3%
O (Stonefly)-(d SNifay (1 T, O (13,
G ERERICN DL

(A) <l

(B) el

(C) =iz gire

(D) TeRE =ldl e

28. WEFIAGET Sl g
(A) PICETs F9T @R &=
(B) fery eptigs Amdice WiRtEIfe
RISRUGERTI]
(C) TV BIAES IHCF &)
(D) TofiTw R

29. fsfiosfs S @F [l gwies
(Noosphere) GF(q o2

(A) TR ame 5@l € Ao AfRiEE,
3l 9Jf2_iE M@ @

(B) TFeraIw Tvz ARG T B

(©) s e ¢ fasFra-
e RCT I

(D) Tofee F0

30. S5 FFio TR IRTEF A @RI
AfePeTelr i Fea ©f 2e
(A) CO; (Carbon dioxide)
(B) O3 (Ozone)
(C) HC (Hydrocarbons)
(D) CO (Carbon monoxide)




31. Thelndia’s strategic Rock Cavern crude oil
storage facilities are situated in the States of

(A) Karnataka and Andhra Pradesh
(B) Maharashtra and Gujarat

(C) Assam and Odisha

(D) Madhya Pradesh and Maharashtra

32. Whichone of the following is not caused by
exposure to UV radiation?

(A) Premature aging of skin
(B) Sunburn
(C) Melanoma of skin

(D) Sarcoma

33. Which State of India tops in generation of
solar power in the year 2023?

(A) Karnataka
(B) Gujarat

(C) West Bengal
(D) Rajasthan

34. Which one of the following is not a source
of mercury pollution?

(A) Combustion of coal

(B) Waste incineration

(C) Styrofoam and plastic disposal
(D) Wildfire

35. Disinfection of waste water from sewage is
a part of

(A) Primary treatment
(B) Secondary treatment
(C) Tertiary treatment
(D) None of the above

X-9 33-11

31. ORCeT @ AT ey ARTECONI AT
W@ (Rock Cavern) S+ie«lifae coa Afdes 2e7a
<l ez ol 28—

(A) Ff5s @I STFHAT!
(B) WZAE IR @&AG
(C) SIPTIN @3R el
(D) S G3R TZAG

32. fasfefiesfm T @b ofsef afm
7l k9w 27 472
(A) & Sifaere 14w
(B) (% ¢#lrel (Sunburn)
(C) QA G
(D) A

33. 2023 AR AR SEAE SRCed @F
ey GG ToAME AR B SIfEF R ?

(A) (5 (Karnataka)

(B) @&IG (Gujarat)

(C) “If*ox=st (West Bengal)
(D) <rerglel (Rajasthan)

34. sffm g ¢weq FEkTResleE W @ m
TeA T2

(A) T 72w

(B) %7 ©HgS 4l

(C) @S @R 2t Mowod
(D) WA

35. RG-S (sewage) ISTGH (A FRGINF
&I (@ AfeE el oz

(A) 22f< 2fea2e (Primary treatment)
(B) (M 2lfg%29 (Secondary treatment)
(C) Srafimifa afeaas (Tertiary treatment)
(D) TR (IR
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36. Western Ghats area is mainly dominated by
(A) Tropical evergreen forest
(B) Desciduous forest
(C) Mixed bamboo forest
(D) Mangrove forest

37. H;N, virus is connected in the context of
one of the following diseases:

(A) Bird flu
(B) Covid-19
(C) Swine flu
(D) Dengue

38. Muffler in exhaust system of a vehicle is
fitted to reduce

(A) Loss of fuel

(B) Noise

(C) Toxic gases

(D) Heating of engine

39. The venue of the 28th meeting of the
Conference of the Parties (COP 28) is

(A) United Arab Emirates
(B) Egypt
(C) India
(D) Spain

40. Green accounting refers to

(A) Accounting that attempts to
incorporate environmental gain and
lossinconventional accounting system

(B) Accounting of only trees in a forest

(C) Accounting of all non-renewable
resources of a country

(D) Accounting of only wildlifein a forest
area

X-10

36. ~ARGTAG AFSNEN @ LT Al @
(A) Tre oazfe IM«ws (Tropical
evergreen forest)
(B) #AseniBl 9ei9&T (Desciduous forest)
(C) TSt qevizet (Mixed bamboo forest )
(D) e I=ie (Mangrove forest)

37. H\N, sizam fgfifie @ spa s
T Fe—
(A) TS F
(B) &IfeT-19
(C) G 3
(D) &%

38. TNARE M e 9@ (exhaust
system) SIFeTE (Muffler) S9! 21 @0 SR
o) Ol 76

(A) GEIfR e
(B) (a2

(C) fare o

(D) &g wi=ial

39. oo (28th) FFICE o] Af6-97
(Conference of the Parties) WW ERES!
(A) IE WA SRR (United Arab
Emirates)
(B) fm=r (Egypt)
(C) @I (India)
(D) ¢4 (Spain)

40. fATSIRRSAR (Green accounting)ﬁﬁ%‘@—
(A) IR A< 9 e 2@
S O3] (P AT 41 27 &bt
e simfore
(B) (FIETNIG AeIECE SR ool
(C) @I 4F AT AT SN
MR (CERPYI SRR
(D) (TG (I G I IHAAT
IEIEEE
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41. Which one of the following is only the
correctly matched pair?

(A) Basel — Transboundary
Convention movement of the
hazardous wastes
(B) Kyoto — To reduce the
Protocol emissions of ozone
depleting substances
(C) Ramsar — Discussion about
Convention Ocean acidification
(D) Montreal = — For the reduction of
Protocol greenhouse gases

42. A crystal with unit cell dimensions
azb#c,a=B=y=90°is
(A) Tetragonal
(B) Orthorhombic
(C) Cubic
(D) Hexagonal

43. Plantspecies thattolerate high lightintensity
are known as

(A) Sciophytes
(B) Heliophytes
(C) Xerophytes
(D) Psammophytes

44. Permafrost soil is characteristic of
(A) Tundra biome
(B) Taiga biome
(C) Tropical rain forest
(D) Savannah

45. Kudremukh in Karnataka is famous for
(A) Lead deposits
(B) Magnetite deposits
(C) Copper deposits
(D) Ilmenite deposits

33-11
41. FEFERC @G gTwg 7T (@e 2
(A) @ —  GeEcElf
FACSTHT TSSO
GG SRHH
(B) @G — SIG BETFEI
(2NTBIFe Ty IR oimiedd
IGRECE )
(C) AR — T TR
TCOTH IRRIGASIGIT
(D) Gz — 221w s
(AP FAIC

42. ¢ 0T (crystal)-937 ¢FF (FIET TQt
aibic,a=B=y:90°’€Cﬂ,ﬁ%§§I
(A) (OBICAMTIaT
(B) SRR
(C) =T
(D) (=IMCsMleT

43. Sfema @ 24wife TH SEE Sel 7Y w0
Ol 257

(A) P57 (Sciophytes)

(B) f71ew257 (Heliophytes)
(C) (AR5 (Xerophytes)
(D) HICNIFIR5A (Psammophytes)

44. NS G 251 @7 @HEy
(A) 9! RN (Tundra biome)-9F
(B) Bi2all AN (Taiga biome)-43

(C) Gf¥i& @9 T35 (Tropical rain
forest)-&q

(D) >rei«! (Savannah)-g

45. Fff6rFa IR IR G (TS ©f 27—
(A) @TC fersiifes
(B) SHI9IGIRG forAiesa
(C) 397 Toeolifess
(D) ZETEIRD fCrsiifens
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46. The compound which occurs in nature as
corundum is

(A) o — ALO;
(B) Na,SiO;
(C) SiC

(D) ALC,

47. Rutile is isomorphous with
(A) PbO
(B) SnO,
(C) Fe;0,
(D) SnCl,

48. In which of the following groups all are
autotrophs?

(A) Spinach, Mushroom, Tomato, Yeast
(B) Tulsi, Algae, Cuscuta, Mushroom
(C) Algae, Spinach, Tomato, Banana
(D) Algae, Mushroom, Banana, Mango

49. Which of the following is not matched
correctly?

(A) Chak-Hao : Manipur

(B) Nilambur Teak : Andhra Pradesh
(C) Madurai Malli : Tamil Nadu

(D) Bhalia Wheat : Gujarat

50. Zoji La is a pass between
(A) Kashmir valley and Ladakh
(B) Lahul valley and Spiti
(C) Chumbi valley and Sikkim
(D) Arunachal Pradesh and Tibet

X-12

46. 2Ffore @ @I RIE &AT A, ©f 261
(A) a - AlLO;
(B) Na,SiO;
(©) Sic
(D) AlC;

47. F512a (Rutile) T H SNBENNIF
(isomorphous) ©f 2&1

(A) PbO
(B) SnO,
(C) Fe;0,
(D) SnCl,

48. RS @9 (P FAIWENE TG

(autotroph) ?
(A) P15, STizew, ST, 236
(B) o3, SIEfaY, FFG!, W*zew
(C) sifal, FeIb, TIch!, el
(D) SieTla], STfEs], e, S

49. EGRe @G e Gt a7
(A) 53-2l8 (Chak-Hao) ¢ Manipur

(B) 31511‘33. % (Nilambur Teak) ¢ Andhra
Pradesh

(C) g2 Wifer (Madurai Malli) ¢ Tamil
Nadu

(D) <ifel i (Bhalia Wheat) ¢ Gujarat

50. cenfer 07 (Zoji La Pass) (@ ®ibd &)
SREe—
(A) IR Toerl @I FWIL-GF M)
(B) wize] Soieral @ Feifo- SIag
(C) PR Soierrl @R PIRRGT SIeay
(D) SFebe Al @3] foRces ey
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51. Which law defines
thermodynamics?

(A) Zeroth Law of thermodynamics
(B) First Law of thermodynamics

entropy in

(C) Second Law of thermodynamics
(D) Stefan-Boltzmann Law

52. In a reaction, when the concentration of
reactant is increased two times, the increase in rate
of reaction is four times. Then the order of reaction
is

A) 0
B) 1
© 2
D) 3

53. Redox titration is used in the determination
of

(A) Dissolved oxygen

(B) Total hardness

(C) Chemical oxygen demand
(D) Biochemical oxygen demand

54. BOD progression curve is similar to
(A) Reoxygenation curve
(B) Oxygenation curve
(C) Oxygen sag curve
(D) Logistic curve

55. One of the natural causes of occurrence of
inland soil alkalinity is the presence of one of the
following:

(A) Sodium hypochloride
(B) Potassium nitrate

(C) Sodium chloride

(D) Sodium carbonate

33-11

51. AEeRIRE-93 @ 9q @Gl (entropy)-
( FRSIR® 7
(A) Ta=19e (Zeroth) & =% AATGIZIH
(B) TF% (First) & 1% Gz
(C) @1t (Second) 1 S NIIVETIRE]
(D) %W—@mm (Stefan-Boltzmann)
=il

52. o6 Rfgace 39q R w99
(concentration) fawe =7, Rfeg 29 (rate of
reaction) BIF%e T T | o3« R v =

(A) O
(B) 1
©) 2
(D) 3

53, @O SiRGH @ M@ Ime =@ o 7=
(A) TATS SRS
(B) (BI5IeT RIem™
(C) e wfFee fTae
(D) AR SRS TiIe

54. BOD (2taxia S (progression curve)-o
QB3 AL APITS of 251
(A) TR Fe
(B) SIfEECTa S
(C) =If3em sl IS
(D) #fEH5F F1

55. Srerg< WG7 5Fg (inland soil alkalinity)
-9 Gl 2pfes Fiel 21 MFRTRe Gaibe Teifzfe ¢
(A) GG EAIHIRS
(B) i wizGs
(OReiicipRcasiEy
(D) AN FIETES

[ Please Turn Over ]



33-11

56. Falkenmark Index is—

(A) Water scarcity as the quantity of
renewable freshwater accessible to
each person

(B) Country is experiencing flood every
year

(C) Country recycling percentage of
sewage water

(D) Country supplying an amount of
drinking water by using air-to-water
technology

57. Which one is not a type of nuclear reactor?
(A) Pressurized water reactor
(B) Pressurized heavy water reactor
(C) Fast neutron reactor
(D) Fast electron reactor

58. Which one of the following criteria is not
connected with Box-Model approaches?

(A) Computation of ground level
concentration of specific air pollutants

(B) Consideration of downwind,
crosswind and vertical dimensions of
box

(C) Definite time-period

(D) Computation of variable emissions,

wind speed and dilution of available
air over indefinite time frame

59. Which of the following values for the
Pearson’s ‘r’ indicates the weakest relationship?

(A) —0-1
(B) 0-67
(©) 0-01
(D) —0-87
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56. TN o< (Falkenmark Index) 2e7—
(A) ‘TET TR -9F @ Wl Taafe
AT TSR Aol s
&
(B) &fS =7 (FI (7% IS 2l SEIe =W
(C) *o=al T @M o @ i
e Sicifiea (sewage water)
< O\® PCJ
(D) @ =Afase SAINT &&1 AU
aAYfEq MG (O T M TREE
A=A
57. FlerRow s N Fe e oo
32

(A) (IR ST [roesd (Pressurized
water reactor)
(B) (2PiiRiZeTS wiiee Renigeod (Pressurized
heavy water reactor)
(C) PG fWCGH fZreniesa (Fast nutron
reactor)
(D) =G =TGR (Fast electron
reactor)
58. fasfeirosers sy iF Rt Ts-eesr
A (Box-Model approaches)-a3 At Giv®
3?2

NRECIG IMVICET ¢-W(ETT q99-9
IEREn

(B) TIGTe2E (downwind), 183G (cross

wind) @R T SR TR
w41

(C) RS Tt

(D) #ifFafEe feme, IreeE ofe «g
SfefWe ANEA AL 2AY ASIAD
SEAe-a Aot |

59. e e e @ PR e’
(Pearson’s ‘r’)-44q bm/c'i\'ﬂl Ao o e 2

(A) —0-1

(B) 0:67

(C) 0-01

(D) —0-87
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60. Which of the following methods of EIA
helps in assessing and identifying the biological
species?

(A) Adhoc method
(B) Checklist method
(C) Matrices method
(D) Overlay method

61. State the process(es) by which motor
vehicles affect(s) the lives of human being through
the air.

(A) Emission

(B) Dispersion

(C) Reception

(D) All of the above

62. Which one of the following Sustainable
Development Goals (SDGs) specifically focusses
on ‘clean water and sanitation’?

(A) 6
B) 7
© 3
D) 4

63. Match List-Iwith List-11. Identify the correct
code from the codes given below:
List-1

(a) The Hazardous Wastes
(Management and
Handling) Rules

(b) The Bio-Medical Wastes (i1) 1974
(Management and
Handling) Rules

(c¢) The Municipal Solid
Wastes (Management
and Handling) Rules

(d) The Water (Prevention (iv) 1998
and Control of
Pollution) Act

Codes:

@ @ © @
(A) () @) Gv) (D)
B) G (Gv) @G @)
(©) Gi) (@Gv) (1) i)
D) Gv) G @) (i)

List-11
(1) 2000

(iii) 1989

33-11

60. fsferie BIA #mfowflr s @nbe am
G AEIfoq eI @ Wewa T4 77 ?

(A) Te-g% “Mfs (Adhoc method)
(B) 3% #@fS (Checklist method)
©) NIT@W *&fs (Matrices method)
(D) €SI ?&@fe (Overlay method)

61. ‘(53 (3T -9 (T (I & [STS AT
S RS 5O 22 2
(A) 2@ (Emission)
(B) ﬁf@q (Dispersion)
© WW% (Reception)
(D) THISE 7FH

62. FEA (Sustainable) SHAER FTHENE
(SDGs)-93 &y (I A= &1 @ Ao -
ot e

(A) 6
B) 7
€ 3
(D) 4

63. ©IfFF-I-a7 AL ©IfFFI-Il TS T |
fiRe @euli @ FfiT el T e ¢

Ol Oifere-11
(a) A& T (gt @3 (i) 2000
T[IRIE) e
(b) IR T&) (IR (i) 1974
GR IR TP
(c) CoTa 3w &0 (Igsiat (i) 1989
GR IR TP
(d) &= (eifry g% vel (iv) 1998
fergel) iize

Flo s
@ ® © @@
A) @ G aGv) ()
B) G Gv) G @)
© Gi) Gv) (@@ a6
D) Gv) () @) (i)
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64. Match the List-I and List-Il. Select the
correct match from the codes given below:

List-1 List-11
(a) Subtropical evergreen (i) The trees are
forest spaced widely
apart

(b) Savanna woodland (ii) Trees with small
hard leathery
leaves

(c) Sclerophyll forest  (iii) Straight trunked
cone-shaped trees
with relatively
short branched
and small narrow

needle-like leaves
(d) Boreal forest (iv) Broad leaf

Codes:

@ ® (@© (@@
@A) @ G Gv) ()
B) G () Gv) @
© @) G @ (Gv)
D) Gv) (@) G (i)

65. For chlorophyll ‘b’ the maxima for
absorption is at

(A) 410 nm
(B) 453 nm
(C) 662 nm
(D) 550 nm

66. For incineration process calorific value of
municipal solid wastes should be between

(A) 1000 to 1200 kcal/kg
(B) 500 to 1000 kcal/kg
(C) 200 to 400 kcal/kg
(D) 1500 to 2400 kcal/kg

X-16

64. OIfFTAH-93 AN ST SIS T | N
@O (A AT @ o w2 ¢
O oifere-Il
(a) RGP s (1) Sferm Teifzfe
eIReE T GRIANR
(b) A TweE (i) Sfema 7ol
@G, & 9}
BTl
(c) FEIRF e (iii) el JHle,
(Sclerophyll forest) lFhs @
SICAFIFS (IO
*RITG IR (2B,
i FBIFS Al
(d) RIECe qeieest (iv) DSTl AroE

FIo s

@ ® © @@
A @ G aGv) ()
B) G (i) Gv) @)
© Gi) G @ >(v)
D) Gv) @ () (i)

65. @FifTe ‘R fwfarie @iboe Wit eifts
(absorption) 2@ U
(A) 410 nm
(B) 453 nm
(C) 662 nm
(D) 550 nm

66. SRFA9 (incineration) #&[ed AT (K

o AEHT WIENERES T AG ez 2631 Tfve
(A) 1000 ¢ 1200 keal/kg
(B) 500 ¢t 1000 keal/kg
(C) 200 At 400 kcal/kg
(D) 1500 ¢ 2400 keal/kg
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67. Which one of the following forms the
photochemical smog in urban environment?

(A) VOCs + NOy + water vapour
(B) VOCs + NOx + sunlight

(C) VOCs + CO + NOx

(D) VOCs + SO, + sunlight

68. To settle materials by gravity is a part of
(A) Primary treatment
(B) Secondary treatment
(C) Tertiary treatment
(D) All of the above

69. The ‘International Day of Zero Waste’ is
celebrated on

(A) December 14
(B) March 30
(C) March 15
(D) October 13

70. Nagoya Protocol is related to

(A) Fair and equitable sharing of benefits
arising out of CBD

(B) Biosafety

(C) Reducing the transboundary
movement of hazardous waste

(D) More use of renewable energy

71. Which of the following chemical species is
not present in anaerobic condition in a stratified
lake?

(A) NH;
(B) NO;
©) H,S
(D) CH,

33-11

67. FNEA AREH NIRRT ES i
(Photochemical Smog) refice fawfafes @b
TR¥R P2

(A) VOCs + NO, + &&irg st
(B) VOCs + NO, + 5it1®
(C) VOCs + CO + NO,

(D) VOCs + SO, + H&F

68. 2ifel( gravity -4 NIE Aiced (materials)
i @la i
(A) =iz Goers
(B) cTwifs Goeo
(C) SRfmifa Goers
(D) THARTE (b3

69. NTEfeF J&ae] a1 (International Day
of Zero Waste) #leTe 541 21

(A) fCo™a 14
(B) 6 30
(C) 6 15
(D) SC3RF 13
70. AR (Nagoya) (RIS @BI A
To{fFS
(A) CBD (23 B ST jizo7sre @ et
SRRy
(B) AT (Biosafety)

(C) Roiega<s AEHa FFRAITSIE Babacs
FE S

(D) FAFEST «fEq e I

71. @36 BARTEZWA (Statified Lake) SR
SRR (I AARS P11 (Chemical Species)-T
QA 72

(A) NH;
(B) NO;
(C) H,S
(D) CH,

[ Please Turn Over ]



33-11

72. Arsenic tends to accumulate in keratin-rich
areas such as hair and nails because of presence of

(A) Hydroxyl groups
(B) Amide groups
(C) Carboxyl groups
(D) Sulphydryl groups

73. Name the enzyme present in mitochondria
responsible for oxidation in phase 1 reaction—

(A) Alcohol dehydrogenase
(B) Anine oxidases

(C) Prostaglandin synthetase
(D) Xanthine oxidases

74. Which of the following resin code represents
PET plastic?

A) 1
B) 2
<€ 5
D) 7

75. Which type of power plant uses the least
land per unit GWh (gigawatt-hour) energy
production?

(A) Wind
(B) Coal
(C) Solar
(D) Geo-thermal

76. Average amount of solar energy reaching
at the top of the atmosphere is approximately

(A) 1,660 watt/m>
(B) 10,000 watt/m?
(C) 1,330 watt/m?
(D) 1,000 watt/m?

X-18

72. SeEa @ba-Ta (Keratin-rich) Z/;
A pA R F2-9 T eF @IT Wig @R
Tofzfore

(A) ZEGIfRE 2 (Hydroxyl groups)
(B) SUINIZT 289 (Amide groups)

(C) FIABT 2pot (Carboxyl groups)
(D) ATFIRIGeT 2621 (Sulphydryl groups)

73. @1 (Phase-1)-¢3 wifsice=q i
ey W WRERAGRE W SRS SR AN
(A) ST fCgRgifee
(B) il SfHcee
(C) ePolaeTes Precae
(D) TrFiRe wifEee

74. fsfERowliE e @ @S @ (Resin
Code) 741 ¢#(G 2175 (PET Plastic)-F (N *e 21
7

(A) 1
B) 2
© 5
(D) 7

75. FEfIie #fe Seome @m@a S @0
*fF TAMET CFGT AT B A & 2fS @5
faroNeo-1e! T I ?

(A) A& (Wind)

(B) %=1 (Coal)

(C) @==/GTE (Solar)

(D) fere-arsfiet (Geo-thermal)

76. IAYNSER SAREE @ A0 21T GTIF *if&
= ©f 21 &
(A) 1,660 €x5/f"
(B) 10,000 e35/f°
(C) 1,330 ex5/f
(D) 1,000 ex5/f"
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77. The temperature required during shipment
and storage of natural gas between continents is

(A) —180°C
B) —240°C
(C) -160°C
(D) -280°C

78. ‘Tar sands’ are composed of

(A) Sand, shale particles, bitumen and
long-chain hydrocarbons

(B) Sand, shale particles, lignite and short-
chain hudrocarbons

(C) Oil shales, anthracite and short-chain
hydrocarbons

(D) Oil shales, peat coal and short-chain
hydrocarbons

79. Which oneis the softest of these coal types?
(A) Sub-bituminous
(B) Lignite
(C) Bituminous
(D) Anthracite

80. Find the standard deviation of the given
datasets 7,2, 8, 11, 6, 13, 16.

(A) 434
(B) 4-64
(©) 3-64
(D) 2-64

81. LANDSAT is a satellite series of
(A) USA
(B) Russia
(C) Canada
(D) European Union

33-11

77. NRWHSEE T AP H SR
(2R 3L AR T G (@ OloIQ! w1 0 2e

(A) —180°C
(B) —240°C
(C) —160°C
(D) -280°C

78. T’ ofye/ Tefd zm—

(A) IS, (e o, R @R A <eeme
W’[ (sand, shale particles,
bitumen and long-chain hydrocarbons)

(B) I, (<&, F1oImIzs @R @IB-ere
W’[ (sand, shale particles,
lignite and short-chain hydrocarbons)

(C) IR (%157, SINLFIES G (RG-S
Wﬂ(oil shales, anthracite and
short-chain hydrocarbons)

(D) ST (*ie, 195 @1 93 @G-S
Q?@WW (oil shales, peat coal and

short-chain hydrocarbons)

79. F1RS T 2RISR S (S AR
CERE
(A) M-RGREE
(B) 5125
(C) g
(D) SINLRTRE

80. 2ve (THIRT 7,2, 8, 11, 6, 13, 16-943 TS
Tfewma (Standard deviation) el el ¢
(A) 434
(B) 4-64
(C) 3-64
(D) 2-64

81. THITND 25 NS ANGRs Piaea—
(A) WfFT gE2G (USA)-93
(B) [T (Russia)
(C) ITle (Canada)
(D) AR 2893 (European Union)
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82. Orbital radius of GPS satellite is
approximately

(A) 26,600 km
(B) 15,200 km
(C) 18,400 km
(D) 36,000 km

83. In India which programme has been
launched by Govt. of India to ensure water security
through per capita availability of water in the
country?

(A) National Water Policy

(B) Jal Kranti Abhiyan

(C) Mission Water for Irrigation

(D) National Mission for Clean Ganga

84. Esker is a type of
(A) Eolian deposit
(B) Moraine deposit
(C) Fluvial deposit
(D) Glacial deposit

85. Therainfall cycle period in India is taken as
(A) 35 years
(B) 25 years
(C) 15 years
(D) 5 years

86. Old age fossils deposited in the younger
age rocks are called

(A) Derived fossils
(B) Trace fossils
(C) Living fossils
(D) All of the above

X-20

82. &« (GPS) *(GeTasa SGIe pe
A7

(A) 26,600 km
(B) 15,200 km
(C) 18,400 km
(D) 36,000 km

83. ©ice Wilfsg T Aieield ™ (per
capita availability) ©IF® AFFE (&I <1>>l/>1|(5€1 <
G(e1d el (water security) 6w SR 2

(A) T eABE AR

(B) & @If® Sife

(C) GTod &y foie exiBiw F01f6
(D) et S T i ot

84. PIE 25T LIS
(A) Beferma fEeelifen (Eolian deposit)
(B) GNeaw fGeolifes (Moraine deposit)
(C) Ffoam fGesiifes (Fluvial deposit)
(D) caifraiet feeaiifen (Glacial deposit)

85. SIFeI IS brga ITNTHI T
(A) 3532
(B) 25 3=
(C) 1532
(D) 53=s

86. SIS AU S T A 2J2Se GRS
A

(A) fEai2ey (Derived) G
(B) @ (Trace) GaM

(C) &8 (Living) &AM

(D) THAET K02
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87. Asaconsequence of global warming, there
may be an increase in the sea level rise as a result
of

(A) Isostatic rebound

(B) A melting of ice-caps

(C) Thermal expansion of sea water
(D) Both (B) and (C)

88. World Soil Day is celebrated on
(A) 5th December
(B) 9th November
(C) 10th January
(D) 15th February

89. The discontinuity between outer and inner
core is known as

(A) Lehman discontinuity
(B) Repetti discontinuity
(C) Conrad discontinuity
(D) Mohorovicic discontinuity

90. Which of the following is formed by the
process of chemical weathering?

(A) Bajada
(B) Bauxite
(C) Moraine
(D) Gorge

91. What is ‘dun’?
(A) A recent valley
(B) A wide longitudinal strike valley
(C) A transverse valley cut by river
(D) A plain land within mountain

33-11

87. fSeTe T WwerETa =Hfe 2 @ha
eS|

(A) SREIFGIGF RIS (Isostatic rebound)

(B) SIZF-FICoK 5ItaT AT (A melting of
ice-caps)

(C) "geed O 1T (Thermal
expansion of sea water)

(D) (B) @3 (C) Tw3g

88. T -7 ~Aifere =
(A) 5th December
(B) 9th November
(C) 10th January
(D) 15th February

89. JMfeF @3 Srergdlel @ (Core)-ad &
ffvzoics e

(A) I 3fozarel (Lehman discontinuity)

(B) @I ffoare! (Repetti discontinuity)

(C) F=are fafozare! (Conrad discontinuity)

(D) @EEITSRS [zre (Mohorovicic
discontinuity)

90. fsfaifee @M Irmafas ezl
(Chemical weathering) &&= 9 9© 237

(A) <rerml (Bajada)
(B) T2 (Bauxite)
(C) It (Moraine)
(D) siet (Gorge)

91. % (dun) S 2
(A) 93 Ar=fes Sorerl
(B) @36 2% S (longitudinal) Zi2s

Toforl
(C) Ta=fiee s A% (transverse)
Torere!

(D) ~AIRICTH T G ATwe Gl
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92. Nitrogen fixing blue green algae is
(A) Nitrosomonas
(B) Nostoc
(C) Rhizobium
(D) Clostridium

93. Which one of the following has highest
bioconcentration factor (BCF)?

(A) Chlordane
(B) Heptachlor
(C) DDT
(D) DDE

94. Which of the following is a living fossil?
(A) Arca
(B) Trigonia
(C) Cardita
(D) Lingula

95. The year declared as the ‘water year’ by the
Government of India is

(A) 2007
(B) 2003
(©) 2009
(D) 2006

96. Which of the following is the hottest planet
of the solar system?

(A) Jupiter
(B) Uranus
(C) Mercury
(D) Venus

X-22

92. WRGEICE fFRR T& & <iAeT 2=
(A) TRGICNE (Nitrosomonas)
(B) 55 (Nostoc)
(C) izcsifas (Rhizobium)
(D) &R (Clostridium)

93. [HRIR® @ETT ARG HIFoS
(Bioconcentration Factor) F(cF (@12
(A) @RS (Chlordane)
(B) @#IGI& (Heptachlor)
(C) DDT
(D) DDE

94, fysfRe @Ah G G G ?
(A) S (Arca)
(B) Gizeaiiferan (Trigonia)
(C) IR (Cardita)
(D) @l (Lingula)

95, ©IF® T (@ I2AB(F &1 (Water Year)

2N e weafes ©f 2=
(A) 2007
(B) 2003
(C) 2009
(D) 2006

96. HfETR® @A CTREIted Taees a2
(A) TS
(B) BT
(C) 34
(D) w&




97. The instrument used to record the
earthquake waves

(A) Scintillometer
(B) Seismograph
(C) Seismometer
(D) Seismogram

98. Which one of the following factors are
hypothesised to be involved in plate movement

activities?
(A) Isostasy
(B) Earth’s rotation
(C) Thermal convection cells
(D) Polar wandering

99. Which of the following is not an agent of
metamorphism?

(A) Heat

(B) Pressure

(C) Cementation
(D) Fluid activity

100. The term ‘Nuclear Winter’ is associated
with
(A) Nuclear disarmament
(B) Nuclear war
(C) After effect of a nuclear explosion
(D) Nuclear weapon testing

X-23
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97. T O Felfsim FH00 (@ T DO
=7

(A) ﬁ!ﬂ%ﬁﬁﬁﬁ (Scintillometer)
(B) ﬁWﬂRﬁ (Seismograph)

(C) PPGNINGR (Seismometer)
(D) ‘I%{WEITSI (Seismogram)

98. fsfeTe @ FRET (26 Temeoa fFam
A Y& T Healle] FT 7 2
(A) SNRERHIM (Isostasy)
(B) 9{@@? ‘fﬁ/ﬂ (Earth’s rotation)
(C) ©17! #ifq5a7 (I (Thermal convection
cells)

(D) @< f5a9 (Polar wandering)

99, fagfafs  (F1af
(metamorphism) €& 7372

(A) Siof

(B) Bi7l

(C) Fr=es=i=

(D) SIGETR Afret

o IN e

100. fNCEaa ©26 (Nuclear Winter) *#0d
AN FIFS 7o

A) efgar fa@ead (Nuclear
disarmament)

(B) fISf&@ g@ (Nuclear war)

(C) TSSfa R Jaas e 2eiq
(After effect of a nuclear explosion)

(D) fefFae Sl (Nuclear weapon

testing)
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Space for Rough Work
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